# Identities with Generalized Derivations and Automorphisms on Semiprime Rings

Asma Ali<sup>\*</sup>, Shahoor Khan and Khalid Ali Hamdin

Department of Mathematics Aligarh Muslim University, Aligarh 202002, India

Abstract: In this paper we prove some results which extend Theorem 4, Theorem 10 and Theorem 11 of Vukman [13] and proposition 2.3 of Thaheem and Samman [10].

**Keywords:** Semiprime rings, Derivations,  $\alpha$ -derivations, Generalized derivations. 2010 Mathematics Subject Classification: 16W25, 16R50, 16N60.

# 1. INTRODUCTION

Throughout the paper R will denote an associative ring with centre Z(R). Recall that R is prime if for any  $a,b \in R$ ,  $aRb = \{0\}$  implies that either a = 0 or b = 0 and is semiprime if for any  $a \in R$ ,  $aRa = \{0\}$ implies that a = 0. A ring R is said to be a 2 -torsion free if 2x = 0 for  $x \in R$  implies that x = 0. We shall write for any pair of elements  $x, y \in R$  the commutator [x,y] = xy - yx. We will frequently use the basic commutator identities: [xy, z] = x[y, z] + [x, z]yand [x,yz] = y[x,z] + [x,y]z for all  $x,y \in R$ . An additive mapping  $d : R \rightarrow R$  is called a derivation if d(xy) = d(x)y + xd(y) holds for all  $x, y \in R$ . Let  $\alpha$  be an automorphism of a ring R. An additive mapping  $d : R \to R$ called  $\alpha$  -derivation is an if  $d(xy) = d(x)\alpha(y) + xd(y)$  holds for all  $x, y \in R$ . Note that the mapping  $d = \alpha - I$  is an  $\alpha$  -derivation. Of course, the concept of  $\alpha$  -derivation generalizes the concept of derivation, since I-derivation is a derivation. An additive mapping  $F : R \rightarrow R$  is called a generalized derivation with an associated derivation d of R if F(xy) = F(x)y + xd(y) holds for all  $x, y \in R$ . Every derivation is a generalized derivation of R. A mapping  $f : R \rightarrow R$  is called centralizing if  $[f(x), x] \in Z(R)$  holds for all  $x \in R$ , in the special case when [f(x), x] = 0 holds for all  $x \in R$ , the mapping f is said to be commuting on R. Analogously a mapping called skew-centralizing if  $f : R \to R$ is  $f(x)x + xf(x) \in Z(R)$  and is called skew-commuting if f(x)x + xf(x) = 0 holds for all  $x \in R$ . Posner [9] has proved that the existence of nonzero centralizing derivation on a prime ring forces the ring to be commuttative. Mayne [8] proved that in case there

exists a nontrivial centralizing automorphism on a prime ring, then the ring is commuttative.

Bresar [2] has proved that if R is a 2-torsion free semiprime ring and  $f : R \to R$  is an additive skew-commuting mapping on R, then f = 0. Vukman [13] proved that if there exist a derivation  $d : R \to R$  and an automorphism  $\alpha : R \to R$ , where R is 2-torsion free semiprime ring such that  $[d(x)x + x\alpha(x), x] = 0$  holds for all  $x \in R$ , then d and  $\alpha - I$ , where I denotes the identity mapping, map R into its center. We extend Vukman results for generalized derivation.

### 2. MAIN RESULTS

We begin with the following Lemmas which are essential to prove our main results.

**Lemma 2.1.** [12, Lemma 1] Let R be a semiprime ring. Suppose that the relation axb + bxc = 0 holds for all  $x \in R$  and some  $a,b,c \in R$ . In this case, (a + c)xb = 0 is satisfied for all  $x \in R$ .

**Lemma 2.2.** [14, Lemma 1.3] Let R be a semiprime ring. Suppose that there exists  $a \in R$  such that a[x,y] = 0 holds for all  $x, y \in R$ . In this case,  $a \in Z(R)$ .

**Lemma 2.3.** [10, Proposition 2.3] Let R be a semiprime ring and let  $d : R \rightarrow R$  be a commuting  $\alpha$  -derivation on R. In this case, d maps R into its center.

**Lemma 2.4.** [13, Theorem 6] Let R be 2 -torsion free semiprime ring and let  $f : R \to R$  be an additive centralizing mappings on R. In this case, f is commuting on R.

**Lemma 2.5.** [13, Lemma 3] Let R be a semiprime ring and let  $f : R \to R$  be an additive mapping. If either f(x)x = 0 or xf(x) = 0 holds for all  $x \in R$ , then f = 0.

<sup>\*</sup>Address correspondence to this author at the Department of Mathematics Aligarh Muslim University, Aligarh 202002, India;

E-mail: asma\_ali2@rediffmail.com

In [13, Theorem 4] Vukman proved that if R is a semiprime ring,  $d : R \to R$  is a derivation of R and  $\alpha$  is an automorphism of R such that the mapping  $x \to d(x) + \alpha(x)$  is commuting on R, then d,  $\alpha - I$  map R into Z(R), the centre of R. We extend the result replacing d by a generalized derivation F of R as follows:

**Theorem 2.1** Let R be a semiprime ring. Suppose that  $F : R \to R$  is a generalized derivation with an associated derivation  $d : R \to R$  and  $\alpha : R \to R$  is an automorphism such that the mapping  $x \to F(x) + \alpha(x)$  is commuting on R. In this case, d and  $\alpha - I$  map R into Z(R).

**Proof:** The linearization of the relation

 $[F(x) + \alpha(x), x] = 0 \quad \text{for all} \quad x \in R, \tag{1}$ 

gives;

 $[F(x) + \alpha(x), y] + [F(y) + \alpha(y), x] = 0$  for all  $x, y \in R, (2)$ 

Taking yx instead of y in (2) and using (1), we obtain

$$[F(x) + \alpha(x), y]x + [F(y), x]x + y[d(x), x] + [y, x]d(x) + [\alpha(y), x]\alpha(x) + \alpha(y)[\alpha(x), x] = 0 \text{ for all } x, y \in R.$$
 (3)

According to relation (2) one can replace in the above relation  $[F(x) + \alpha(x), y]x + [F(y), x]x$  by  $-[\alpha(y), x]x$  which gives

$$[\alpha(y), x]G(x) + y[d(x), x] + [y, x]d(x) + \alpha(y)[\alpha(x), x] = 0 \text{ for all } x, y \in R,$$
(4)

where G(x) denotes  $\alpha(x) - x$ . Replacing xy for y in (4) we get

$$\begin{aligned} & [\alpha(x), x]\alpha(y)G(x) + \alpha(x)[\alpha(y), x]G(x) + xy[d(x), x] \\ & + x[y, x]d(x) + \alpha(x)\alpha(y)[\alpha(x), x] = 0 \quad \text{for all} \quad x, y \in R. \end{aligned}$$
(5)

Replacing  $\alpha(y)$  by y in the above relation, we obtain

$$[\alpha(x), x]yG(x) + \alpha(x)[y, x]G(x) + xy[d(x), x] + x[y, x]d(x) + \alpha(x)y[\alpha(x), x] = 0 \text{ for all } x, y \in R.$$
 (6)

Left multiplying (4) by x, replacing  $\alpha(y)$  by y and then subtracting from (6), we get

$$[G(x), x]yG(x) + G(x)[y, x]G(x) + G(x)y[G(x), x]$$
  
= 0 for all  $x, y \in R$ , (7)

where  $[\alpha(x), x] = [G(x), x]$ , which reduces to

$$xG(x)yG(x) + G(x)y(-G(x)x) = 0$$
 for all  $x, y \in R$ . (8)

Applying Lemma 2.1, the above relation gives

$$[G(x), x]yG(x) = 0 \text{ for all } x, y \in R.$$
(9)

Substituting yx for y in (9), we obtain

$$[G(x), x]yxG(x) = 0 \text{ for all } x, y \in R.$$
(10)

Right multiplying (9) by x and then subtracting from (10), we get

$$[G(x), x]y[G(x), x] = 0 \quad \text{for all} \quad x, y \in R.$$
(11)

Semiprimeness of R yields that

$$[G(x), x] = 0 \quad \text{for all} \quad x \in R.$$
(12)

We have therefore,  $[\alpha(x), x] = 0$ , for all  $x \in R$ , which gives together with the relation (1) yields that

$$[F(x), x] = 0 \quad \text{for all} \quad x \in R.$$
(13)

Linearization of the above relation gives

$$[F(x), y] + [F(y), x] = 0 \text{ for all } x, y \in R.$$
 (14)

Replacing yx for y in (14)and using (13), we obtain

$$[F(x), y]x + [F(y), x]x + [yd(x), x] = 0$$
 for all  $x, y \in R.$  (15)

Right multiplying (14) by x and then subtracting from (15), we get

$$[yd(x), x] = 0 \quad \text{for all} \quad x, y \in R.$$
(16)

Substituting d(x)y for y in (16) and using (16), we obtain

$$[d(x), x]yd(x) = 0 \text{ for all } x, y \in R.$$
(17)

Replacing y by yx in (17), we get

$$[d(x), x]yxd(x) = 0 \quad \text{for all} \quad x, y \in R.$$
(18)

Right multiplying (17) by x and then subtracting from (18), we obtain

$$[d(x), x]y[d(x), x] = 0 \quad \text{for all} \quad x, y \in R.$$
(19)

Semiprimeness of R yields that

$$[d(x), x] = 0 \quad \text{for all} \quad x \in R.$$
(20)

We have therefore proved that G and d are both commuting on R. Now Lemma 2.3 completes the proof of the theorem.

**Corollary 2.1.** Let *R* be a 2-torsion free semiprime ring. Suppose that  $F : R \to R$  is a generalized derivation with an associated derivation  $d : R \to R$ and  $\alpha : R \to R$  is an automorphism such that the mapping  $x \to F(x) + \alpha(x)$  is centralizing on *R*. In this case, *d* and  $\alpha - I$  map *R* into *Z*(*R*).

**Proof:** The proof is an immediate consequence of Lemma 2.4 and Theorem 2.1.

**Corollary 2.2** Let R be a noncommutative prime ring of char  $R \neq 2$ . Suppose that  $F : R \to R$  is a generalized derivation with an associated derivation  $d : R \to R$  and  $\alpha : R \to R$  is an automorphism such that the mapping  $x \to F(x) + \alpha(x)$  is centralizing on R. In this case, d = 0 and  $\alpha = I$ .

In [13, Theorem 10] Vukman proved that If R is a semiprime ring,  $d : R \to R$  is a derivation of R and  $\alpha$  is an automorphism of R such that the mapping  $d(x)x + x(\alpha(x) - x) = 0$  for all  $x \in R$ , then d = 0 and  $\alpha = I$ . We obtain the result in case of a generalized derivation as follows:

**Theorem 2.2** Let R be a semiprime ring. Suppose that  $F : R \to R$  is a generalized derivation with an associated derivation  $d : R \to R$  and  $\alpha : R \to R$  is an automorphism such that  $F(x)x + x(\alpha(x) - x) = 0$  for all  $x \in R$ , then d = 0 and  $\alpha = I$ .

Proof By hypothesis, we have

$$F(x)x + xG(x) = 0 \quad \text{for all} \quad x \in R, \tag{21}$$

where G(x) stands for  $\alpha(x) - x$ . Replacing x by x + y in (21) and using it, we get

$$F(x)y + F(y)x + xG(y) + yG(x) = 0$$
 for all  $x, y \in R.$  (22)

Substituting yx for y in (22), we obtain

$$F(x)yx + F(y)x^{2} + yd(x)x + xG(y)\alpha(x) +$$

$$xyG(x) + yxG(x) = 0 \text{ for all } x, y \in R.$$
(23)

Right multiplying (22) by x and then subtracting from (23), we get

$$yd(x)x + xG(y)G(x) + xyG(x) + yxG(x)$$
  
-yG(x)x = 0 for all  $x, y \in R$ . (24)

Replacing y by xy in (24), we get

 $xyd(x)x + xG(x)\alpha(y)G(x) + x^2G(y)G(x) + x^2yG(x) + (25)$ xyxG(x) - xyG(x)x = 0 for all  $x, y \in R$ . Left multiplying (24) by x, we obtain

$$xyd(x)x + x^{2}G(y)G(x) + x^{2}yG(x) + xyxG(x)$$
  
-xyG(x)x = 0 for all  $x, y \in R$ . (26)

Comparing (25) and (26), we get

$$xG(x)\alpha(y)G(x) = 0$$
 for all  $x, y \in R$ . (27)

Replacing  $\alpha(y)$  by y in (27), we obtain

$$xG(x)yG(x) = 0$$
 for all  $x, y \in R$ . (28)

Replacing y by yx in (28), we get

$$xG(x)yxG(x) = 0$$
 for all  $x, y \in R$ . (29)

Semiprimeness of R yields that

$$xG(x) = 0$$
 for all  $x \in R$ . (30)

Applying Lemma 2.5, we get G = 0. Using this relation in (21) we obtain F(x)x = 0 for all  $x \in R$ . Again by Lemma 2.5 we get F = 0. This implies that

$$F(x) = 0 \quad \text{for all} \quad x \in R. \tag{31}$$

Replacing x by xy in (31) and using (31), we obtain

$$xd(y) = 0$$
 for all  $x, y \in R$ . (32)

In particular xd(x) = 0 for all  $x \in R$ . By Lemma 2.5, we conclude that d = 0.

The following theorem is an extension of Theorem 11 of [13].

**Theorem 2.3** Let R be a semiprime ring. Suppose that  $F : R \to R$  is a generalized derivation with an associated derivation  $d : R \to R$  and  $\alpha : R \to R$  is an automorphism such that the mapping  $x \to F(x)x + x\alpha(x)$  is commuting on R. In this case, d and  $\alpha - I$  map R into Z(R).

#### **Proof:** We have the relation

$$[F(x)x + x\alpha(x), x] = 0 \quad \text{for all} \quad x \in R.$$
(33)

Linearization of (33) yields that

$$[A(x), y] + [F(x)y + F(y)x + x\alpha(y) + y\alpha(x), x] = 0 \text{ for all } x \in R,$$
(34)

where A(x) stands for  $F(x)x + x\alpha(x)$ . Replacing yx for y in (34), we get

$$[A(x), y]x + [F(x)y + F(y)x, x]x + [yd(x)x, x] + x[\alpha(y)\alpha(x), x] + [yx\alpha(x), x] = 0 \text{ for all } x, y \in R.$$
(35)

According to (34), one can replace in the above relation [A(x),y]x + [F(x)y + F(y)x,x]x by  $-[x\alpha(y) + y\alpha(x),x]x$ , to obtain

$$x[\alpha(y), x]G(x) - y[\alpha(x), x]x + [y, x][\alpha(x), x] + y[d(x), x]x + [y, x]d(x)x + x\alpha(y)[\alpha(x), x] + +yx[\alpha(x), x] = 0$$
(36)

where G(x) denotes  $\alpha(x) - x$ . Substituting xy for y and y for  $\alpha(y)$  in (36), we get

 $x[\alpha(x), x]yG(x) + x\alpha(x)[y, x]G(x) - xy[\alpha(x), x]x$  $+x[y, x][\alpha(x), x] + xy[d(x), x]x + x[y, x]d(x)x +$  $x\alpha(x)y[\alpha(x), x] = 0$ (37)

## Left multiplying (36) by x, we get

$$x^{2}[\alpha(y), x]G(x) - xy[\alpha(x), x]x + x[y, x][\alpha(x), x] + xy[\alpha(x), x]x + x[y, x]d(x)x + x^{2}\alpha(y)[\alpha(x), x] + xy[\alpha(x), x] + x[y, x]x\alpha(x) = 0 \text{ for all } x, y \in R.$$
(38)

# Substituting $\alpha(y)$ for y in (38), we have

$$x^{2}[y,x]G(x) - xy[\alpha(x),x]x + x[y,x][\alpha(x),x] + xy[d(x),x]x + x[y,x]d(x)x + x^{2}y[\alpha(x),x] + xyx[\alpha(x),x] = 0 \text{ for all } x,y \in R.$$
(39)

## Subtracting (37) from (39), we obtain

$$x[G(x), x]yG(x) + xG(x)y[G(x), x] + xG(x)[y, x]G(x) = 0 \text{ for all } x, y \in R,$$
(40)

where  $[G(x),x] = [\alpha(x),x]$ . Collecting terms, the above relation can be written as

$$-x^{2}G(x)yG(x) + xG(x)yG(x)x = 0$$
 for all  $x, y \in R$ . (41)

Substituting yx for y in the above relation, we get

$$-x^2G(x)yxG(x) + xG(x)yxG(x)x = 0$$
 for all  $x, y \in R$ . (42)

Applying Lemma 2.1, we get

$$x[G(x), x]yxG(x) = 0 \text{ for all } x, y \in R.$$
(43)

Putting first in the above relation yx for y, then multiplying the relation (43) from the right side by x, and then subtracting the relations so obtained one from another, we arrive at x[G(x),x]yx[G(x),x] = 0 for all  $x,y \in R$ , whence it follows that

$$x[\alpha(x), x] = 0 \quad \text{for all} \quad x \in R.$$
(44)

Applying (44) in (33), we get

[F(x), x]x = 0 for all  $x \in R$ .

 $x[\alpha(x), y] + x[\alpha(y), x] + y[\alpha(x), x] = 0$  for all  $x, y \in R.$  (46)

(45)

Substituting xy for y in (46), we get

$$x^{2}[\alpha(x), y] + x\alpha(x)[\alpha(y), x] + xy[\alpha(x), x] = 0 \text{ for all } x, y \in R.$$
(47)

Left multiplying (46) by x and then subtracting from (47), we obtain

$$xG(x)[\alpha(y), x] = 0 \text{ for all } x, y \in R.$$
(48)

Substituting *y* for  $\alpha(y)$  in the above relation, we get

$$xG(x)[y,x] = 0 \quad \text{for all} \quad x,y \in R.$$
(49)

Replacing y by yz in (49), we arrive at

$$xG(x)y[z,x] = 0 \quad \text{for all} \quad x, y, z \in R.$$
(50)

Linearization of x and w in (50), yields that

$$xG(x)y[z,w] + xG(w)y[z,x] + wG(x)y[z,x] = 0 \text{ for all } x, y, z, w \in R.$$
(51)

Putting in the above relation [z,w]yxG(x) for y and applying the relation (49), we obtain (xG(x)[z,w]y(xG(x)[z,w]) = 0 for all  $x,y,z,w \in R$ , Semiprimeness of R gives

$$xG(x)[z,w] = 0 \quad \text{for all} \quad x, y, z, w \in R.$$
(52)

Applying Lemma 2.5, we obtain

$$G(x)[z,w] = 0 \quad \text{for all} \quad x, z, w \in R.$$
(53)

By Lemma 2.2, we conclude that  $G(x) \in Z(R)$  for all  $x \in R$ . In other words,  $\alpha - I$  maps R into Z(R). Linearization of (45) gives

$$[F(x), y]x + [F(y), x]x + [F(x), x]y = 0$$
 for all  $x, y \in R.$  (54)

Replacing y by yx in (54), we get

$$[F(x), y]x^{2} + [F(y), x]x^{2} + [yd(x), x]x + [F(x), x]yx = 0 \text{ for all } x, y \in R.$$
(55)

Right multiplying (54) by x and then subtracting from (55), we obtain

$$[yd(x), x]x = 0 \quad \text{for all} \quad x, y \in R.$$
(56)

Replacing y by d(x)y in (56) and using (56), we get

 $[d(x), x]yd(x)x = 0 \text{ for all } x, y \in R.$ (57)
Replacing y by xy in (57), we obtain

$$[d(x), x]xyd(x)x = 0 \text{ for all } x, y \in R.$$
(58)

Putting first in the above relation yx for y, then multiplying the relation (58) from the right side by x, and then subtracting the relations so obtained one from another, we arrive at [d(x), x]xy[d(x), x]x= 0 for all  $x, y \in R$ .

Semiprimeness of R gives

$$[d(x), x]x = 0 \quad \text{for all} \quad x \in R.$$
(59)

Hence by [11, Theorem 11], d maps R into Z(R).

**Theorem 2.4** Let R be a 2-torsion free semiprime ring. Suppose that  $F : R \to R$  is a generalized derivation with an associated derivation  $d : R \to R$ and  $\alpha : R \to R$  is an automorphism such that  $[[F(x),x] \pm \alpha(x),x] = 0$  for all  $x \in R$ . In this case, dand  $\alpha - I$  map R into Z(R).

**Proof** By hypothesis, we have

$$[[F(x), x], x] + [\alpha(x), x] = 0 \text{ for all } x \in R.$$
 (60)

Linearization of (60) yields that

$$[[F(y), x], x] + [[F(x), y], x] + [[F(x), x], y] + [\alpha(y), x] + [\alpha(x), y] = 0 \text{ for all } x, y \in R,$$
(61)

Replacing y by x in (61) and using (60), we get

$$[[F(x), x], x] = 0$$
 for all  $x \in R$ . (62)

By [5, Theorem 3.4], d maps R into Z(R). Using (62) in (60), we obtain

$$[\alpha(x), x] = 0 \quad \text{for all} \quad x \in R.$$
(63)

Now Lemma 2.3 completes the proof of the theorem. Similarly we can prove the case  $[[F(x), x] - \alpha(x), x] = 0$  for all  $x \in R$ .

**Theorem 2.5** Let R be a 2-torsion free semiprime ring. Suppose that  $F : R \to R$  is a generalized derivation with an associated derivation  $d : R \to R$  and  $\alpha : R \to R$  is an automorphism such that  $[[F(x) \pm [\alpha(x), x], x] = 0$  for all  $x \in R$ . In this case, Ris commutative and d maps R into Z(R).

#### **Proof:** By hypothesis, we have

$$[F(x), x] + [[\alpha(x), x], x] = 0 \text{ for all } x \in R.$$
(64)

Linearization of (64) yields that

$$[F(y), x] + [F(x), y] + [[\alpha(y), x], x] + [[\alpha(x), y], x] + [[\alpha(x), x], y] = 0 \text{ for all } x, y \in R,$$
(65)

Replacing y by x in (65) and using (64), we get

$$[[\alpha(x), x], x] = 0 \quad \text{for all} \quad x \in R.$$
(66)

This implies that

$$[x, [x, \alpha(x)]] = 0 \quad \text{for all} \quad x \in R.$$
(67)

Replacing  $\alpha(y)$  by y in (67) to get

$$[x,[x,y]] = 0 \quad \text{for all} \quad x,y \in R.$$
(68)

This implies that  $[x,y] \in Z(R)$  for all  $x,y \in R$ . Therefore we can write

$$[[x,y],r] = 0 \quad \text{for all} \quad x,y,r \in R.$$
(69)

Substituting yx for y in (69) and using (69), we get

$$[x,y][x,r] = 0 \quad \text{for all} \quad x,y,r \in R.$$
(70)

Replacing r by ry in the above relation and using it, we obtain

$$[x,y]r[x,y] = 0 \quad \text{for all} \quad x,y,r \in R.$$
(71)

Semiprimeness of R yields that

$$[x,y] = 0 \quad \text{for all} \quad x,y \in R. \tag{72}$$

This implies that R is commutative. Putting (66) in (64) to get

$$[F(x), x] = 0 \quad \text{for all} \quad x \in R.$$
(73)

By Theorem 2.1 we obtain d maps R into Z(R).Similarly we can prove the case  $[F(x) - [\alpha(x), x], x] = 0$  for all  $x \in R$ .

**Theorem 2.6** Let R be a 2-torsion free semiprime ring. Suppose that  $F : R \to R$  is a generalized derivation with an associated derivation  $d : R \to R$  and  $\alpha : R \to R$  is an automorphism such that  $[[F(x) \pm \alpha(x), x], x] = 0$  for all  $x \in R$ . In this case, d maps R into Z(R) and R is commutative.

#### Proof By hypothesis, we have

 $[[F(x), x], x] + [[\alpha(x), x], x] = 0 \text{ for all } x \in R.$ (74)

Linearization of (74) yields that

$$\begin{aligned} & [[F(y),x],x] + [[F(x),y],x] + [[F(x),x],y] + [[\alpha(y),x],x] \\ & + [[\alpha(x),y],x] + [[\alpha(x),x],y] = 0 \quad \text{for all} \quad x,y \in R. \end{aligned} \tag{75}$$

Substituting x for y and y for  $\alpha(y)$  respectively in (75) and using (74), we get

$$[[F(x), x], x] = 0$$
 for all  $x \in R$ . (76)

By Theorem 2.4, we obtain d maps R into Z(R). Applying the above relation in (74), we obtain

$$[[\alpha(x), x], x] = 0 \quad \text{for all} \quad x \in R.$$
(77)

By Theorem 2.5 we get the required result. Similarly we can prove the case  $[[F(x) - \alpha(x), x], x] = 0$  for all  $x \in R$ .

The following example illustrates that the above Theorems do not hold for arbitrary rings and torsion condition in the hypothesis is not superfluous.

**Example:** Consider 
$$R = \left\{ \begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} | a, b, c \in \mathbb{Z}_2 \right\}.$$

R is neither a semiprime ring nor 2-torsion free. Define maps  $F,d,\alpha$  :  $R \to R$  by

$$F\begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 & b \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}, d\begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix}, \text{ and}$$
$$\alpha \begin{pmatrix} 0 & a & b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & -a & -b \\ 0 & 0 & c \\ 0 & 0 & 0 \end{pmatrix}. \text{ It can be verified that } F \text{ is}$$

a generalized derivation with an associated derivation d and  $d = \alpha - I$  is an  $\alpha$  -derivation of R satisfying the hypothesis of Theorem 2.1 - Theorem 2.6. But R is not commutative.

Received on 20-09-2014

Accepted on 20-10-2014

Published on 02-04-2015

DOI: http://dx.doi.org/10.15377/2409-5761.2014.02.01.5

© 2014 Ali et al.; Avanti Publishers.

## REFERENCES

- Bresar M. Centralizing mappings and derivations in prime rings. J Algebra 1993; 156(2): 385-394. http://dx.doi.org/10.1006/jabr.1993.1080
- [2] Bresar M. On skew-commuting mappings of rings. Bull Austral Math Soc 1993; 47(2): 291-296. <u>http://dx.doi.org/10.1017/S0004972700012521</u>
- Bresar M. On generalized biderivations and related maps. J Algebra 1995; 172(3): 764-786.
   <a href="http://dx.doi.org/10.1006/jabr.1995.1069">http://dx.doi.org/10.1006/jabr.1995.1069</a>
- [4] Divinsky N. On commuting automorphism of rings. Amer Math Monthly 1970; 77: 61-62. http://dx.doi.org/10.2307/2316858
- [5] Dhara B, Shakir Ali. On *n* -centralizing generalized derivations in semiprime rings with applications to C<sup>\*</sup>algebras. J algebra and its application 2012; 11(6): 1250111 (11) pages.
- [6] Herstein IN. Topics in Ring Theory. Univ of Chicago Press. Chicago 1969.
- Hvala B. Generalized derivations in rings. Comm Algebra 1998; 26: 1147-1166. <u>http://dx.doi.org/10.1080/00927879808826190</u>
- [8] Mayne JH. Centralizing automorphism of prime rings. Canad Math Bull 1976; 19(1): 113-115. http://dx.doi.org/10.4153/CMB-1976-017-1
- [9] Posner EC. Derivations on prime rings. Proc Amer Math Soc 1957; 8: 1093-1100. <u>http://dx.doi.org/10.1090/S0002-9939-1957-0095863-0</u>
- [10] Thaheem AB, Samman MS. A note on  $\alpha$  -derivations on semiprime rings, Demonstratio Math 2001; 34(4); 783-788.
- [11] Vukman J. Identities with derivations in rings and Banach algebras. Glasnik Mathematicki 2005; 40(60): 189-199. <u>http://dx.doi.org/10.3336/gm.40.2.01</u>
- [12] Vukman J. Centralizer on semiprime rings. Comment Math Univ Carolin 1991; 42(2): 237-245.
- [13] Vukman J. Identities with derivations and automorphisms on semiprime rings. Int. J. Math. Math. Sci. 2005; 7: 1031-1038. <u>http://dx.doi.org/10.1155/IJMMS.2005.1031</u>
- [14] Zalar B. On centralizers of semiprime rings. Comment Math Univ Carolin 1991; 32(4): 609-614.

This is an open access article licensed under the terms of the Creative Commons Attribution Non-Commercial License (<u>http://creativecommons.org/licenses/by-nc/3.0/</u>) which permits unrestricted, non-commercial use, distribution and reproduction in any medium, provided the work is properly cited.